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ENGLISH VERSION

Instructions : (1) Write answer of all questions in main answer

sheet.
(2) Figures in the right side indicate marks.
(3) Give answer question no. 2 to 5 on the basis of

internal.
1 Choose the right answer from objective given below : 20
(any twenty)
(1) Density of population gave which factor of Population ?
(A) Centralization
(B) Decentralization
(C) Polarisation
(D) Other
(2) What was the population of India in 2011 ?
(A) 102 crore
(B) 121 crore
(C) 114 crore
D) 121 Abaz
3) is represented as symbol of small family.
(A) Yellow Triangle
(B) Saffron Triangle
(C) Red Triangle
(D) Pink Triangle
4) In which year family planning programme came into force ?
A 1991
B) 1987
©) 1947
D) 1952
(5) What is the rate of literacy in women as compared to men
in Gujarat ?
(A) High
(B) Low
(C) Equal
(D) Other
(6) In which year child marriage restraint act was enacted ?
A 1975
B) 1947
©) 1929
D) 1991
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(7)  Which of the following is new name of Family Planning ?
(A) Family welfare
(B) Size of Family
(C) Both
(D) None
(8) Population in per square kms is known as
(A) Size of population
(B) Resident
(C) Density
O Al
9 Which district has highest population in Gujarat ?
(A) Vadodara
(B) Surat
(C) Kachchh
(D) Ahmedabad
(10) According to 2011 census, Death rate in India is
A 121
B) 9.30
©) 221
O 7.2
(11) Whose proportion is to be put against total men genetic
population ?
(A) Total Women
(B) Total young girls
(C) Total little girls
(D) Total old women
(12) What was the population of Gujarat in 2011 ?
(A) 5.5 crore
(B) 6.04 crore
(C) 12.1 lakh
(D) None
(13) When National Population Fund was constituted to make
effective implementation of population policy ?
A) 13th May 2003
B) 13th April 2006
(C) 13th February 2003
D) 13th March 2006
(14) What is of the following is the limitation of family welfare
programme ?
(A) Less Education
(B) Rural Population
(C) Social Structure

D) All
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(15) Family planning is programme.
(A) Compulsory
(B) Voluntary
(C) Prohibited
(D) Political
(16) Which state has highest population in India ?
(A) Andhra Pradesh
(B) Madhya Pradesh
(C) Uttar Pradesh
(D) Bihar
(17) What is the main cause of population explosion in India ?
(A) High rate of birth
(B) Low death rate
(C) Poverty
(D) All of the above
(18) Government had declared population policy in

A) 1972
@) 1971
€) 1976
O) 1974

(19) What is the following included in population policy 2000 ?
(A) Decrease birth mortality rate
(B) Marriage registration
(C) Maternity registration
O) Al
(20) Which type of education is compulsory in India ?
(A) Technical Education
(B) Higher Education
(C) High School
(D) Primary Education

Write note on objectives of population policy. 10
OR

Evaluate the new national population policy.

What is family planning ? Write note on importance of 10
family planning in India.

OR
Discuss relationship of population with environment 10

Health and poverty.
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4  Analysis of urban population in Gujarat.
OR

4  Write note on trends of urban rural population in
Saurashtra.

5  Write note on problem of old age and security in India.

OR

5  Write note Density and age composition in Gujarat,

6  Explain the concepts of Birth rate and death rate.
OR

6  Explain the concept of stationary and quasi stationary
population.
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